Mathematics 9

Course Review (5) Date:
1. Simplify
a) 4X+9+6x+5 b) 4x® —7x+8+2x*—-3x—9
c) —3a°—-7a—8a—4a’ d x*+3x-x%-x
2. Evaluate if x=—4 and y=6
a) 2x+y b) 4x? o XN d) (2x)2
3. For the trinomial, —3x>+2x+5xy?, list the coefficients
4. Simplify.
_ 5
) = D) Gx)(-2x") 0 (-3xy)(-4x°)
—oYy
5. Expand and simplify.
a) 5xy(2x—3y) b) —4x3(x+3)
c) 7+2(x-1) d) —3(x+10)-8
e) (8X® +2x—3)+(—6x* +4x+7) f) (Bx® +5x+7)—(2x* +4x-9)
g) 5xX(3x* —2Xx—7)+2x(x+7) h) 3y*(2-3y-y*)-y(4y-y?)
i) (x—-4)x+1 ) 3y+2(y+2)
K) 3x—6(x+2)—(x+5) ) 3x—(x+7)—x—-2(2x+8)
6. Simplify.
_ 2y, 2 3 2
2) 15x - 20 b) 5X°y —20xy +5xy 0 36x° +4x d) 12x° -8x+20
S SXy 4x 4
—x*—x—42 3xy? —30xy —18x —25x% +10x+5 a’h°® +5a%0® —14ab’
) n = —=H 0) h) 5
-1 3x -5 ab
Answers:
1. a) 10x-+14 b) 6x*—-10x-1 c) —7a’-15a d) 2x
2. a) -2 b) 64 c) 18 d) 64
3. 3,2,5
4. a) 9y b) —10x° c) 12x’y
5. a) 10x?y—15xy? b) —20x*-12x° ¢) 2x+5 d —3x-38
e) 2x%+6x+4 f) x*+x+16 g) 15x3—8x? —21x h)y —3y*—-8y®+2y?
i) x?2-3x-4 i) 15y%+11y+2 k) 4x*+10x+13 ) x?+14x-5
6. a) 3x—4 b) x+y-4 c) 9x*+1 d) 3x?-2x+5

e) x*+x+42 f) y>-10y-6 g) 5x?-2x-1 h) a*+5a%h—14b?
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